. 1. space(x), time(x)
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B O w|# 8| @SRR
r =601, ®| 0| 0| (@0RR)
F={as}. 0 2| 1|1 (LRR
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F (qo, ¢ 10#10$, $1B...)

F (0o, ¢ 104108, $108...

b (cu ¢ 10#108, $108..
F (qu ¢ 10#10$, $108..
F (qu, ¢ 10#10$, $108..
F (q2 ¢ 104108, $10B..
F (g ¢ 10#108, $108..
F (g ¢ 104108, $10B..

b (qs ¢ 10#10$, $10B...
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* timew(x)

X M
timem(X)=min{ t | D(x)
Co(x) | ' D)}
timem(x) [X|
| |
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a:Co(X) F Cux) ... } Ci(x)
space(a )=max{h|0 j t1 i k}
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s s spacem(x)
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spacem(x)=min{ space(a ) |
D) o Co(x) | "m D(X)}
spacem(x) 1 h© 1
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X=WHW Iw] F (o, ¢ 107108, $1B...)
- F (qo. ¢ 104108, $10B...)
Spaceu (X) =1 F (G ¢ 104105, $10B...)
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F (q ¢ 10#108, $108...)
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I (02, ¢ 10#108, $10B...)
I (gs, ¢ 10#10$, $10B...)
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01#0101
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s ={0,1,#, |%|¢ BB {(co. B, B, R, N, N)}
r={B,01, |%]°[B|B {(0 B,0,R, N, R)}
F={ } el 188 {(62, B, LR, N,R)}
T % | $ | B | B |{(BBLNN),@:B BRNN}
° |0 |B|B {(gs B, B, L, N, N)}
G| 1|B|B {(6s B.B, L, N, N)}
G| #|B|B {(c, B, B, R, N, N)}
w|s|ofo {(d 0,0,N, L, L)}
200412/6 G| $ |11 {(Gs 1, 1,N, L, L)} .
%] $|%]8 (G $, 5, N, N, N)}
f(n), g(n)
c>0 No
n Mo f(n) cg(n)
f(n)=0(g(n))
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. ¢ 002N
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* log,2n+2 O(logn), ...
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power(2, n)

-n 4 20 2
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P q) - (pv wdl! q)
P, a(x>0), r(x=0))
-(p,subl, q,r)
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12
10 -
,n 3 2logn Vv n
——n
6 —=— SQRT(n)
2*LN(n)
. _
P et
.
1 2 3 4 5 6 7 8 9 10
& 2004126 14
(p, add1, q)
x| s |y ][D
P $ P1 $ R
|k 0/B P2 | V1| L
— P1 1 P1 0 R
o] p o] L
p2 $ q $ N
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(p, subl, g, r)

X | s |Y]|D

p $ pr| $| R

pr | OB | p | V1| L

p1 1 p1 0 R

p2 | 01| p |O1] L

p2| $ q $ N

1-10
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(p, subl, g, r)

ss| X | s |Y|D

Lolelsfel o 0.1
oo 11w p$01B...

pl| 1]p|0]|R - $p,01B...
P2| 0 |p2[0|R o $1pllB...
P2 ; P4 ; :: = $10sz...
P2 Ps3 e I
i R —
ps| 1 | pa| 1L \_ $p3lBB
ps|$als|N - p,$1BB...
pe o] ps |02 ] L T g$1BB...
pa| $|1q|$|N
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~ p1 B r B L
— P1 0 P1 1 R
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— | ps 1 P4 1 L
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DTM M
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